© PROBLEMSONWORK .

above the surface of Ea.rth

(Take the radlus of Ea.rth as 4 000 mxles and glve your answer in ton-miles: )

poe 'b) How much additional Work would be reciu‘ired to put the sa;tellivféin“ B
' geosynchrouous orblt (orblts the Earth once a da.y) a.t an a.ltltude of

22 400 mxles above the surface of Earth

2. A tank is located with its base 3 m..
~ above ground level. The sh'a,pe of the

'ta.nk is formed by revolvmg the.

hyperbola,—— — x = 1 a.bout the -~
l.,'yaxxsfor3<y<9 4 .

‘ -Aa) Calculate the work done to ﬁll the‘ ‘
L . . tank to a depth of 3 m: w1th oxl oi‘ o
o ‘ den51ty 800 kg/m? 1f the 011 IS .

pumped in from ground level

‘ b) Now calculate the work to pump a.ll

the 011 up over the top of the tank
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'Gro;u\'d Ltv;'

9 An 'unde:grbﬁnd'stbragé t»gank in the .
sha'pie_ of a sphere of radilis 3 m. is

lqcated with its top 6 'm. below ground ..
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